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Trigonometric Functions Ex 5.2 Q 1
We have,

cosec?s - motfe=1

= cosec®® =1+ oot 8

T

= cosec & = ++f1+ cot?g

In the third quadrant cosec? is negative

cosece = -1+ cot?e
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We have,

sin?8+rcos?o=1

= sin?8=1-cos’8

= sing = +4f1- cos® &

In the 2" quadrant sin& is paositive and tang is negative

sing = y1- cos? @
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Hence, sin9=§, tanS=—J§,
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In the third quadrant cosec? is negative

cosecd = —af1 + cot? @
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We have,
sin8+cos?o=1

= cosfg8=1-5ing

= cos@=+41-sin @

In the 1™ quadrant cosd is positive and tan@ is also positive

cos8 = 41— sin® g
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Trigonometric Functions Ex 5.2 Q 2
we have,
sing+coste=1

= cosi8=1-sin8

= COs 8= +4f1- sin” &




In the 2% gquadrant cosé is negative and tang is also negative

CO5 8= —f1- sin* &
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Trigonometric Functions Ex 5.2 Q 3
We have,
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sing =—, tang=— mdlcgcne
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= & lies in the second quadrant and ¢ lies in the third quadrant.
Mow, sin<g+costd=1

= cosig8=1-5in%8

= £os 8 = +J1- sint &

In the 2% guadrant cos@ is negative and tan & is also negative

£O5 @ = —J1- sin® &
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Mo, Seczﬁ—tan2¢=1
= seczﬁ = 1+tan2¢

= secd = i-.|'1+tar12¢

In the third quadrant secgd is negative
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Trigonometric Functions Ex 5.2 Q 4

We have,
sin@ +cosd =10

= Sing =-cosd —— - - -
- sing -1

cos&
= tangd =-1

W know that,

secig-tanfe =1

= sec®d =1+ tana

= secd = 41+ tan® &

=
Lcecd =—§

[by equations (i) and (i))]

In the 4™ quadrant secé& is posifive.

secd = 41+ tan® &
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putting Cos8 = = in equatian fi}, we get,
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Chapter 5 Trigonometric Functions Ex 5.2 Q 5.

We have,
3 3
cos8=-—, andrs<8< —
= 2
= @ lies in the 3" quadrant

we know that,

= Sing = +4fl - cos® @

In the 3" quadrant sing is negative and tan & is positive.

sing = —f1 - cos® &
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